
Subject : Economics    Class: XI ( Regular ) 
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Time: 3 hours  Max marks: 80 

                             Model Question Paper 

 Section – A  

 Statistics for Economics 

1   ,dopu ds #i fuEufyf[kr esa ls dkSu lh lkaf[;dh ugh gS A        1x8=8 

    (a) vkWdMksa dk ladyu (b) vkWdMksa dk izLrqrhdj.k 

     © vkWdMksa dk oxhZdj.k (d) O;ofLÉr #i ls laxzfgr la[;kRed vkadMs  

    In singular sense which of the following is not a statistics 
    (a) Collection of data (b) Presentation of data 
    © Classification of data (d)Systematically collected numerical data 
2  vkadMs tks ewy L=ksr ls igyh ckj laxzfgr fd, tkrs gSa A--------- dgykrs gSa A 

    (a) izkÉfed vkadMs (b)  förh;d vkadMs 

     © vkarfjd vkadMs (d) izdkf’kr vkadMs 

    The data which are collected for the first time from the orginal source are called_____ 
    (a) Primary data (b) Secondary data 
    © Internal data (d)Published data  
3  oxZ 15 µ 20 dk e/; fcUnw gksxk µ 

    Mid point of class 15-20 will be (Choose the correct alternative) 
    (a) 17  (b) 17.5 
    © 18  d) 18.5 
4.   9,13,14,16,18 dk ek/; gksxk µ 

      Mean of 9,13,14,16,18 will be 
    ( a) 14         (b) 14.5 
    © 13  (d) 13.55 
5 fuEufyf[kr dFkuksa dks /;kuiwoZd if<, vkSj fuEufyf[kr esa ls lgh fodYi dk p;u dhft, A  
   dFku 1 ek/; dks xzkfQd #i esa iznf’kZr ughsa fd;k tk ldrk gS A 
  dFku 2 ek/; pje ewY; ls izHkkfor gksrk gS A 

  (a) nksuksa dFku lR; gSa A 

  (b) nksuksa dFku vlR; gSaA 

  (c)  dFku 1 lR; gS vkSj dFku 2 vlR; gSA 

  (d) dFku 1 vlR; gS vkSj dFku 2 lR; gSA 

   Read the following statement carefully and choose the correct alternative 
   Statement 1 Mean cannot be represented graphically. 
   Statement 2 Mean is affected by extreme value. 
   (a) Both Statement are true. 
   (b) Both statement are false. 
   (c ) Statement 1 is true and statement 2 is false. 
   (d) Statement 1 is false and statement 2 is true. 
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6 fuEufyf[kr esa ls lgh fodYi dk pquko djsa A 

   Find the correct option from the following. 
  (a) Mode = 3median- 2 mean 
  (b) Mode = 2median- 3mean 
   ©  Median = 3mode- 2mode 
  (d) Mean = 3median- 2 mode 
7 lgh feyku pqusa 

  (a)v/kZ varj prqFkZd foLrkj  Σfx/n 

  (b)foLrkj dk xq.kkad   Highest value – Lowest value 

  (c)lekarj ek/;    N+1/2 th item 

  (d)ek/; fopyu    Σf|Dm|/Σf 

   Choose the correct match 
   (a) Semi inter quartile range = Σfx/n 
   (b) Coefficient of range  =          Highest value – Lowest value 
   (c) Arithmetic mean  =          N+1/2 th item 
   (d) Mean deviation  =          Σf|Dm|/Σf 
8  fuEufyf[kr dFku dks i<sa vfHkdFku (A) vkSj dkj.k (R)A uhps fn, x, fodYiksa esa ls ,d lgh fodYi pqusa 

   vfHkdFku (A) pkj enksa dk lekarj ek/; 40 gSA ;fn izR;sd en esa ls 5 ÄVk fn;k tkrk gS rc u;k lekarj ek/; 45 gksxkA 

    dkj.k (R)  fdlh Js.kh ds izR;sd en esa ls ,d fuf’pr la[;k o<kus ij lekarj ek/; Hkh mlh la[;k ds cjkcj c< tk,xk A 

  (a) vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa vkSj dkj.k (R) vfHkdFku (A) dh lgh O;k[;k gS A 

  (b) vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa vkSj dkj.k (R) vfHkdFku (A) dh lgh O;k[;k ugha gS A 

  (c) vfHkdFku (A) lgh gS ysfdu dkj.k (R)  xyr gS A 

  (d) vfHkdFku (A) xyr gS ysfdu dkj.k (R)  lgh gS A 

   Assertion(A) : The arithmetic mean of four items is 40 . if five is subtracted from each   
item. Then the new arithmetic mean will be 45 
   Reason (R) if each item of series is increased by certain number, then mean will also   
increase by same number 
  (a) Both assertion (A) and reason (R) are true and reason (R) is correct explanation of     
Assertion (A) 
 (b) Both assertion (A) and reason (R) are true and reason (R) is not correct explanation   
of Assertion (A) 
 (c) Assertion (A) is true but the Reason (R)  is false. 
 (d) Assertion (A) is false but the Reason (R)  is true. 
9 lkaf[;dh dh dksbZ nks lhek,W fyf[k, A                2 

  Explain two limitations of statistics.        
10 ,d vPNs oxhZdj.k ds mns’;ksa dk o.kZu dhft, A       2 

  Describe the objectives of a good classification       
11 fuEu vkadMksa dks o‘‘r fp= ökjk izLrqr dhft, A        2 

  Present the following data through pie diagram.       

ensa (Items) Hkkstu(Food) diMk(Cloth) fdjk;k(Rent) f’k{kk(Education) vU; (Other) 
izfr’kr O;; 30 17 15 13 25 

12 lekarj ek/; dh x.kuk dhft,         2 

   Find out the arithmetic mean from the following data     
etnwjh(wages) 10 20 30 40 50 

etnwjksa dh la[;k (No. of workers) 4 5 3 2 5 
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13 tux.kuk fof/k ds rhu izeq[k xq.k dkSu ls gSa         3 

     What are the three main  merits of census method?     
14 fuEu vƒdMks ls vko‘fr cgqÒqt cukb, A        3 
     Construct a frequency polygon from the following data      

vad (Marks) 0-10 10-20 20-30 30-40 40-50 
fo|kfZÉZ;ksa dh la[;k 

(No. of 
students) 

8 18 35 25 14 

15 fuEu vƒdMks ds vk/kkj ij cgqyd dh x.kuk dhft, A       3 

     Calculate mode from the following data.           

 

16  fuEu vƒdMks ls izeki fopyu Kkr dhft, A        5 

     Calculate standard deviation of the following data.       
vad (Marks) 10-20 20-30 30-50 50-70 70-80 

vko‘fr 

Frequency 
5 8 16 8 3 

17 fuEu vƒdMks ls Lih;jeSu ds Js.kh varj lg laCkÌ dh x.kuk dhft, A     5 

    Calculate spearman’s rank of correlation from the following data    

x 80 60 55 65 75 

y 60 48 49 50 55 

18 lwpdakdks ds fuekZ.k esa vkus okyh dfBukb;ksa dk o.kZu dhft,A      5 

    Explain the difficulties that arise in the construction of index numbers.   
   Or  
   fQÓj fofÌ ökjk lwpdakd Kkr dhft, A 

   Find the index numbers by using Fisher’s method.  
ensa 

(items) 

vk/kkj cÔZ esa dher 

P(Price in Base 
year) 

vk/kkj cÔZ esa ekék 

(Quantity in Base 
year) 

pkyw cÔZ esa dher 

(Price in current  
year) 

pkyw cÔZ esa ekék 

(Quantity in 
current year) 

A 10 10 24 25 

B 35 3 40 10 

C 30 5 20 15 

D 10 20 8 20 

E 40 2 40 5 

 

 

vad  

(Marks) 

fo|kfZÉZ;ksa dh la[;k  

(No. of students) 

0-20 21 

20-40 25 

40-60 30 

60-80 24 

80-100 14 
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     Section- B 
   Indian Economic Development 
19 Hkkjr esa ;kstuk vk;ksx dh LFkkiuk dc gqbZ       1x8=8 

     When planning commission established in india.? 
    (a) 1945 (b) 1947 (c) 1950 (d) 1951 
20 ubZ vkfFkZd uhfr ds vk/kkjHkwr LrEHk dkSu ls gSa  

    (a) mnkjhdj.k (b)  futhdj.k (c) oS’ohdj.k (d) LkHkh 

    Which are the basic pillars of New economic policy? 
    (a) Liberlisation (b) Privatisation (c) Globalisation (d) All 
21-------- i;kZoj.k {kj.k dk dkj.k ughsa gS  

   (a) vif’k"V izca/ku 

   (b) ouksa dh dVkbZ 

   (c) Xykcy okfeZax 

   (d) gfjr vkoj.k dh j{kk djuk   

     ……… is not a cause of environmental degradation. 
    (a) Waste management 
    (b) Deforestation 
    (c) Global warming 
    (d) Guarding green cover 
22  fuEufyf[kr dFku dks i<sa vfHkdFku (A) vkSj dkj.k (R)A uhps fn, x, fodYiksa esa ls ,d lgh fodYi pqusa  

vfHkdFku (A)  csjkstxkjh vkSj xjhch vfoHkkT; tqMoka gS 

dkj.k  (R)   csjkstxkjh lHkh Lkkekftd vkfFkZd cqjkb;ksa dk ewy dkj.k gS 

fodYi  

  (a) vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa vkSj dkj.k (R) vfHkdFku (A) dh lgh O;k[;k gS A 

  (b) vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSa vkSj dkj.k (R) vfHkdFku (A) dh lgh O;k[;k ugha gS A 

  (c) vfHkdFku (A) lgh gS ysfdu dkj.k (R)  xyr gS A 

  (d) vfHkdFku (A) xyr gS ysfdu dkj.k (R)  lgh gS A 

  Read the following statement -Assertion(A) and reason (R) Choose one of correct  
alternatives given below. 
Assertion(A) : Unemployment and poverty are inseparable twins. 
   Reason (R) Unemployment is the root cause of all socio economic evils. 
  (a) Both assertion (A) and reason (R) are true and reason (R) is correct explanation of       
   Assertion (A) 
 (b) Both assertion (A) and reason (R) are true and reason (R) is not correct explanation    
   of Assertion (A) 
 (c) Assertion (A) is true but the Reason (R)  is false. 
 (d) Assertion (A) is false but the Reason (R)  is true. 
23 xzkeh.k csjkstxkjh eq[;r fdrus izdkj dh gksrh gS  

   (a) ekSleh  (b) fNih csjkstxkjh (c) nksuksa (d) dksbZ ugha  

    How many types are rural unemployment? 
    (a) Seasonal unemployment (b)Disguised Unemployment  (c) Both (d) None of these 
24 dkWye 1 dks dkWye-ii ds lkFk lqesfyr djsa A vkSj lgh fodYi dk pquko djsaA 

 dkWye-i      dkWye-ii 

      (a)usQsM      (i) 2vDrwcj,1975 
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     (b)ukckMZ dh LFkkiuk      (ii) 1958 

    (c) {kséh; xzkeh.k cSadksa dh LFkkiuk     (iii) 1991-2003 

    (d) Lo.kZ dzkfUr      (iv) 12 tqykbZ,1982 

     Match the column-I with column –II with respective 
 Column-I   Column-II 
     (a)NAFED     (i) October2,1975 
     (b) Establishment of Nabard   (ii) 1958 
    (c) Establishment of Regional Rural Banks (iii) 1991-2003 
    (d) Golden revolution    (iv) july12,1982 
    Choose the correct alternative 
    (a) A-(i),B-(iii), C-(ii), D-(iv) 
    (b) A-(iii),B-(ii), C-(i), D-(iv) 
    (c) A-(ii),B-(iv), C-(i), D-(iii) 
    (d) A-(iv),B-(i), C-(iii), D-(ii) 
25 fuEufyf[kr dFkuksa dks /;kuiwoZd if<, vkSj fuEufyf[kr esa ls lgh fodYi dk p;u dhft, A  
   dFku 1 ekuoh; iwath fuekZ.k ns’k ds izkd‘frd lalk/kuksa dk vfo"dkj djus esa enn ugha djrk gS A 

  dFku 2 ;g vkfFkZd fodkl dh mPPk nj dh vksj tkrk gS A 

  (a) nksuksa dFku lR; gSa A 

  (b) nksuksa dFku vlR; gSaA 

  (c)  dFku 1 lR; gS vkSj dFku 2 vlR; gSA 

  (d) dFku 2 lR; gS vkSj dFku 1 vlR; gSA 

   Read the following statement carefully and choose the correct alternative 
    Statement 1  Human capital formation does not help to invent natural resources of   
    the country 
   Statement 2  It leads to higher rate of economic growth 
   (a) Both Statements are true. 
   (b) Both statements are false. 
    ©  Statement 1 is true but statement 2 is false. 
   (d) Statement 2 is true and statement 1 is false. 
 
26 2011 dh tux.kuk ds vuqlkj Hkkjr dh tula[;k fdruh Fkh 

   (a) 135 djksM(b) 165 djksM (c) 121 djksM (d) 137 djksM 

    What was the population of india according to census 2011? 
    (a) 135 crore(b) 165 crore (c) 121 crore (d) 137 crore. 
27 Loraérk ds le; Hkkjrhs; vFkZO;oLFkk ds fiNMsiu ds fdUgha nks dkj.kksa dk o.kZu dhft,A    2 

    Explain two causes of the backwardness of Indian Economy   
    at the time of independence. 
28  mnkjhdj.k o oS’ohdj.k esa vUrj Li"V djsa A        2 

     Differentiate between Liberalisation and Globalisation. 
29  vk/kkfjd lajpuk dk D;k vFkZ gS blds izdkjksa dk o.kZu djsaA       2 

    What does infrastructure mean?  Explain its types. 
30 phu dh detksfj;kW D;k gSa ?         2 

    What are the weaknesses of china ? 
31 ubZ vkfFkZd uhfr ds i{k esa rhu rdZ nks A        3 

    Give three arguments in favour of New economic policy. 
32  tSfod [ksrh ds D;k ykHk gSa?         3 
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    What are the advantages of organic farming? 
33 Hkkjr vkSj ikfdLrku dh ,d leku foQyrk,W D;k gSa ?       3 

   What are the common failures of India and Pakistan. ? 
34 Òkjrh; vÉZO;LÉk esa d‘fÔ ds egRo dh O;k[;k djsa A       5 

      Explain the importance of agriculture in Indian Economy. 
35 fuÌZurk ls D;k vfÒizk; gS Òkjr esa uÌZurk ds dkj.kksa dk o.kZu dhft,A     5 

    what is meant by poverty  Mention the causes of Poverty in india. 
36 Òkjr esa csjkstxkjh ds lkekftd rÉk vkfZÉZd ifj.kkeksa dk o.kZu dhft,A      5 

     Explain the social and economic consequences of unemployment in india 
   Or  
   Òkjr ds eq[; vk;krksa dk o.kZu dhft,A 

    Describe the main imports of india. 
 

 
 
 
 
 

Downloaded from cclchapter.com




